BACIS ZsBREBRLAN, 112 BRI A TR BeF I 280218 R4l

/1= Y AN .
eI ELE SR T
~ s HIEIAT: RS L4 9 =5 BiB Ao Ko iR 15 9
LAES— s fer AR LR Ky R L, 0 B3 . 4
fwc
ARz o 23
(1) 62— 31 g 63
(10 20 (3%) 2. 35+ MMN ( 262)
(2) 599 + 207 24
(700 (800 900 ) 282 w
ot —919= ( 232
2.M H: 658 B Nsw k8
o Rﬂlﬁ
| | ~ 2|
_____“_____ - 20 e
J\, 4 197— 79= (¢ [1&§
w@&%,%@ wq; S
w157 (715) 517 IR
(2) 980 990 éoo 5. ngwwmﬁ,mmﬁ@,m ?
LB AR T3 4tk ) St el o ==
£ (26) 9
38
- 9
2
we s HLRLET %.m 10 45
. (4x5) (6x4) (0x8) [68] (4x3)
#4455 / b < /,/
.../- c\\\ .
1. a1 322 0y |- 2. FL: 764 @ - e @ e
R - N
(9%0] (3x8) [5%x4) (8x6] [8x4]




* % -
B~ SHEED :

1. 699— ( o0 )— ( v [)—
( Do)

2. 861— 761— ( 466/])—
(36 ]

3.9 A~ 4 Bt Fon T S —- ArAes

Rikr( T4 e
4. 3 B¢ B 3 A5 16 B+~ ArdesRy &

( 460 )-
m.H%WﬂwmﬁamuHA,wcvﬁmmwo
6. 22 f8¢ A vbe T2 -35 R (|

( 1YV @iAs
7w AeH=29 Rithi & T FLEL | &

R THLEL ) 2 ( ngw )

8.H: - - -ﬁ ERE T (3820 A

T -HEs B RAKRNEGE S B 2 o

( 743 s

( 347 )
0.0 r B E B 10 Ae 27 BePz 4

BLiri o Bz NIEH I

H4 48 4=

02— 703

561— ( 46/ )

u\r

—

11 A% 2 Be

34 ESE

10. £ 0458 28 R4 ks BoRuskaidi: 6 k&
i 4 A8 Bodii gy » ®LAD
( 4 VA [3 )Bemisgs o

11. A 5 ki

( 5 MEs AL

( O )@EimEzgs

)FL s

12,

WMEIZIHAIRLLIA( S M@0 -

QEI BRI R IA () MEie
CYRE ST TP S P8 ST T
13 2 olgiaBi e L 27 A
—-EI B8 Bk
b Xa B ;| \ﬂ% ) o
BL b s X-ELHL BT
1R B B2— s A By
s B £1%: 86 s 0 £4F
5%y ?
129
+ 6§46
218

\\/»@m 457 s
B RLEE

- B
VAR

4

LD

]
v

2. F+@Es &L FE

_3N5

MLag: B EL R
L+L+3t3

3. FiEsvi—-HiF K %Ewﬁ%

[0X $=30

X
< ¥

I.—UF «

\Imn

e
G-y -

[o]

o

ARG R

9 o=

129 sy » —-

. llu\?/q %ll

MLNW!WC

%; \/“M N
N o

/8 Mm

[
bt
a

\A

<

N
g



